EARAROBEEIERT — 2 N— IBISH —F

20194£3A308 (£) 3EIFI3H

i >%4%t 5005T UEwl iR

‘ [R1&] & ‘ [RERBE] — | & (£) 12000 B

[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
—: o4 | WEEL 1:11.3 1-1 37.0] 96.1 | 10 | 498 |/MEIUE (X#)
117/13|@L1 73— A54.0 (- o |FHEES
L:O—KA+FA7 B:Ly K¥—#H HE%E
; $ 4 4 | xS 1:11.6 3-2 37.1]93.3 | 1 486 |/NE—B (FiH)
2|81 I F7OX 57.0 (1" 3/4) (va) | FIPER
LIZART—NF— B:aLRKLI12T W7 7 — L
— e > 4 | RILLF 1:11.8 4-4 37.1] 915 | 4 496 | EEMEEA (FH)
3 n|\yhsr1zve - 57.0 (1 1/4) © (§>ﬂhs$71ﬁ>m:f
LV ZRE—3IZR4— BiNZ—INA 55y KA
-5 s 4 | HEHEEE 1:11.8 14-13 [ 36.2| 92.1 | 12 | 436 |LXHE&R &)
4|59 |FL/T=F 57.0 (F4%) (-p) | R
R:7UF—-v B:779% Eldz: |
N N AEIE 1. - . . s FIRL (Ei)
5 MRS EDUEE ) o4 s 1(11/12>9 15-13 | 36.1] 91.3 | 14 ffé i
Lixvr 77 bw—L BV RL—X SRS
N = o EHBAS : - SAME (EH)
6l5/8|7>¥hFva R - 1('31/%450 S R 5_160) g
L:7—3ZX MU= B:aX/ bEAF R LXK
= 4 5 | FlREX 1:12.1 7-7 37.1| 88.7| 6 454 | NE—B ()
7 3| -7 57.0 (3/4) (o) | EWEtE
R:F1—TZh4 B EVv—F EREBEBE
S —s ERBR : - YRERE ()
8 6| huvamFaT [B] o7 L 1.(112).3 11-10 | 37.1]86.9 | 9 <5+366) gl
YA = B i ) I = SN Ny = 1) roavEERRSH T a3 vK
. o4 | BIBIEA 1:12.5 12-13 | 37.1| 85.1 | 13 | 490 |MWiEFME (X&)
9 10 L/ HhZX~< 57.0 (1 1/4) (+20) ARSHHIEEE
Rixrvvh/Eed BFavhIIUR N T — i
R . . ZHER 112, - . . AREE (E#
10 P22 > S #H 5 =5 1(/1\27L;5 10-10 | 37.4| 85.0 | 2 ?g? ﬁﬁ%
L:T7HAFU I v—I B:LTF—I T LA BEERS
(e > 6 | AFBE 1:12.8 12-10 37.5| 82.3 | 11 478 | /NEERER (3EH)
1 5| ®TIRZLHKIL b - 57.0 (' 3/4) (- | BN
AR NI =7 B IRZL =T YIXEL Ty —LI
e L C/ON : - BAREX (%#)
1l 81E15EY 7 ki 1.(113).0 4-5 38.2(81.0 | 8 <4+9“2) ijﬁ
R:prnN=—— B:¥o¥I7O0-7) J =Y Ty —LI
S . 5 | BSAEs 1:13.0 7-7 38.0| 80.7 | 15 | 488 |iEKH=® (XiH)
13/ 7]12| ®@X > 2 UT v b # 55.0 (7€ 42) X>757 )
ea—-I> 79> B:wNhTaUIv b Fh)T7—L
o F. 33+U7 :13. = X . LREES (E#
14 7| FV I AT = [B] i 5 5o 1(11/32>1 4-5 38.3| 80.2 | 5 (4114) S
LBATATv— BTz AR —LF 1 (B) #HAEIA-FKL—Ya>@AE77
- 44 | KEFHRIR 1:13.3 2-2 38.9| 79.4 | 7 478 | PEEZ (EH)
15/ 8|14 Y/ a7v= 57.0 (11/2) (+22) EBEE
ST ZART—WTF— BNAECZXH—I Evzie]
@ 21 L
£ 48.4-37.0
NA>24 L |12.1-10.8-11.4-11.9-11.9-13.2
® 1—F—@EBIERL
13—7F-
2ol=5"=
== 13,14,15(1,7,11) (3,8,12)4,6(5,10)9,2
43—+ — 13-(14,15)11(1,7) (3,8,12) (5,4,6) (2,9,10)
[ N5
B 13 5,100/ 714K 13-15 3,640/ e E 7-8 4,400/ 3=’ | 11-13-15 25,200/
B B 13 950/ 11-13 5,210 B = =1 12,590 3EE | 13-15-11 227,730
15 170 11-15 750M B H 13-15 36,490M
1 240M

ABICOVWTRDTEEERROODE. TR LIV,




